= AH O
N = 0 &8 AF S & Al A
20109 = 20lA ABHGIH HEY ~ HED
S A4
M MotsHle WES SAAL
Sl 80 ALY RFX (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
A& 7,719,291 6,607,831 1,111,460
= 1,620,000
z 200,000
Al 3,093,000
2 2,806,291
AQtEsHE WES TAAHE 6,223,598 4,171,368 2,052,230
= 1,620,000
2 200,000
Al 2,193,000
- 2,210,598
SSHO ALY 2K 118,645 96,375 22,270
gel&ol BAHR2 =X 73,411 67,621 5,790
201 Et2dd| 3,600 4,000 A400
01 AFE222|H] 3,600 4,000 A400
A= S22 14,000 1502 2,100
OJISIISEEXN 287 a2
100,000 «524 500
OUHEIxL2 1,000
305 HiASS 34,811 31,381 3,430
01 Hia2S 34,811 31,381 3,430
OBZoSZ2(=2A22)X=2 34,811
401 Al&H| L2 HYI 35,000 32,240 2,760
01 Al&HI 35,000 32,240 2,760
onlggx 24 35,000
oreto] ZHE Ald 22 10,000 11,760 AN 1,760
401 AlEHI Y20 10,000 10,000 0
01 Al&H] 10,000 10,000 0
Ootgol 2 g&al .2 &yl 5,000
OHOE & AY, SHAS HU| 5,000
=2 2R(=2.5td)2el 31,270 13,080 18,190
201 Lt AH| 31,270 13,080 18,190
01 AFR22(H] 31,150 12,960 18,190
O3 250,000& x12021 30,000
O=2.Z2LXUE HMAA ol 500,000 » 14! 500
OEMTYHI 30,000 53 150
OAHEAAHE A 20,0002 x252 500
02 332ZH4| 120 120 0
OFFRu=A MRS 10,0003 =128 120
HEHDAIZHZ=A 3,000 3,000 0
203 HR=XH| 3,000 3,000 0




SA AL
FEH: AHO}
o T

MOMESHE HRE TAAA
Col: SENQ ALY AREZ (B9 &2
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
03 AlMZ=ZRETY| 3,000 3,000 0
OAL YL =T Y| 1,000
OHTEAl QT2 JZAILE 25 25 2,000
CRE2R(5E) 2aBe 964 914 50
201 Y2yl 964 914 50
01 AFR 22/t 964 914 50
OMSI4e ZEDRMN 14 62,7002 *58 A 314
ODNM gz B=S 502 %10,0000H 500
S2(5HE)ME2 M2 3,000 #5021 150
TADIE AIMEE 5,056,580 3,506,000 1,550,580
=2 1,620,000
=l 200,000
Al 1,193,000
= 2,043,580
SHEHRIAN LS AT DEDIME T O AL 700,000 700,000 0
401 AIEHIL L] 700,000 700,000 0
01 Al 700,000 700,000 0
OBt4HIANE S ARR ZOIMEBHOIAY 700,000
c22E=7y| 800,580 700,000 100,580
401 AIEHILR ] 800,580 700,000 100,580
01 Al 800,580 700,000 100,580
O=22% =7y 800,580
BULAZTHTAF 70,000 70,000 0
401 AEHILR ] 70,000 70,000 0
01 Al 70,000 70,000 0
OBUYY ZLTA 70,000
B T2,518 S A2 ALEL (S 200,000 200,000 0
401 AEHIL2 ] 200,000 200,000 0
01 Al 200,000 200,000 0
OB T2,518 S 22 AW (B4 ) 200,000
B HE STIB2IHI(SIHHE) 50,000 50,000 0
401 AIEHIL L] 50,000 50,000 0
01 Al 50,000 50,000 0
O HESTZ2IYI (SI1H ) 50,000
SoEMESERY 286,000 286,000 0
3 200,000
Al 43,000
2 43,000
401 AEHIL2 ] 286,000 286,000 0
3 200,000




fA AL

M MOISHE WEE TAAL
SRl ZAIDIEE AIEEE (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Al 43,000
T 43,000
01 Al£Hl 286,000 286,000 0
OsZEdead gl 286,000
z 200,000
Al 43,000
- 43,000
AtS UISRAPT =8 =2H&EZAt 500,000 0 500,000
Al 500,000
401 Al HI LS HHI 500,000 0 500,000
Al 500,000
01 A&l 500,000 0 500,000
OSAMNS UHRAPT=H T2IHE S A 500,000
Al 500,000
S 2Y S0 M A 50,000 0 50,000
Al 50,000
401 AIEHIZ 208 50,000 0 50,000
Al 50,000
01 AI&HI 50,000 0 50,000
O=d=stal2d s YHSALY 50,000
Al 50,000
B3NS A22-4556 E20HE 450,000 0 450,000
Al 450,000
401 AlIEHIZ R0 450,000 0 450,000
Al 450,000
01 Al£Hl 450,000 0 450,000
O¥Hs &2 2-455 6 E20E 450,000
Al 450,000
SRS Ead 93 =204 1,800,000 0 1,800,000
= 1,620,000
- 180,000
401 AlIEHIZ 208 1,800,000 0 1,800,000
= 1,620,000
T 180,000
01 AlZHI 1,800,000 0 1,800,000
OdE7S e LTI IHESAM 1,800,000
= 1,620,000
- 180,000
ARE E2 FFFUALY (L2 (HAEE =)L 150,000 0 150,000
2 2E4xl)
Al 150,000
401 AIEHIZ 208 150,000 0 150,000
Al 150,000
01 Al&HI 150,000 0 150,000




A AL

H: AOts4E BWES TAIHA
CHR|: TAID|EH AIEES (&te @
- < - PSS I =
2N -3 - c2(3H) - NEME - HES 0] Ao @E% Hl =2
OARR T2 Z3XHYIAMY (2L2(LAxS
FH)de EE A 150,000
Al 150,000
MEAET = ZAIHE FA 18,960 41,480 A22,520
CAHE 29 18,960 21,480 A2,520
201 LEt2HH| 18,960 21,480 A2,520
01 AFRZ2lH] 18,960 21,480 A2,520
OZAIHECH G222 422
2,000,000 43 8,000
OZ222|Mo5 a2 70,000 «6H x43] 1,680
OZAMHERALE B 70,0002 *15H x43) 4,200
OZANA=Z2=SRE E&LY
70,0002 * 13 23] 1,820
OSHAHHES 3 &ML
70,0002 *5H %23 700
OXZE3| LG 70,0002 *4H %23 560
OF0EHZLSHE 100, 0002 20 A 2,000
WS TAIEE FU| 1,029,413 527,513 501,900
Al 1,000,000
- 29,413
CRA0} =422 29 27,853 25,953 1,900
201 LEt2AH| 6,953 5,953 1,000
01 AFR2t2lH] 500 500 0
OZE2EH(AMSE)ADE 22
500,000 x4l 500
02 222%H| 6,453 5,453 1,000
OXS XM (B2 R 2.5€) 48,0002 =1 CH 48
OEtBINERL2(BEX 2.58)
70,000 *1CH*23] 140
OXNESXHEE2(S2X 2.55) 265,000 «1CH 265
OXt& ety (2R 2.58) 5,000
OUW=EIl SRH| 1,000
206 XH2H| 20,000 20,000 0
01 24l 20,000 20,000 0
OS2 (AN RHHPY 20,000
—ZHOtA R QY] 10,0002 * 1,200 12,000
—OHEEHE £ Gl S
50,000 * 1604 8,000
405 KHAHE SH 900 0 900
01 ML SEFSH| 900 0 900
ozz2ee WxJl 2 500,000 = 1CH 500
OE2AME CXEItHet 7Y
400,000 = 1CH 400




fA AL
M M0ts+s EES ZAIAHE
el WHES ZAIEE FEl (el &)
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
St ZAIEH L S A 1,000,000 500,000 500,000
Al 1,000,000
401 Al&HI L2 OHYI 1,000,000 500,000 500,000
Al 1,000,000
01 Al&H| 1,000,000 500,000 500,000
OUsZAMEHe =LA 1,000,000
Al 1,000,000
ZH 32 ECZE OISRl 2 20 22l 1,560 1,560 0
201 LEt=EH| 1,560 1,560 0
02 3323l 1,560 1,560 0
O=&Rk= 30,000& 123 360
OMIIR3 100,000& «12& 1,200
NHAMEHAOl S2&= TSI 1,157,658 2,116,748 A 959,090
Al 900,000
- 257,658
AHHEE =4 1,157,658 2,116,748 A959,090
Al 900,000
T 257,658
=4&ds iSot=k 2el 455,520 155,520 300,000
Al 300,000
T 155,520
201 LEt=EH| 18,720 18,720 0
02 3323l 18,720 18,720 0
O24= 0I2dt=EHMelAMd 22 (MIIF)
1,560,000& 122 18,720
307 G12told 136,800 136,800 0
05 QIZtRAE = 136,800 136,800 0
O34= Ot=sct=SHMelAld |E2H]
11,400,000 128 136,800
401 A EHIL 201 300,000 0 300,000
Al 300,000
01 Al&H| 300,000 0 300,000
O34s 0tsdt=% HEASE 300,000
Al 300,000
otd =Xl 2teltl 102,138 101,228 910
101 el 24| 29,178 20,068 9,110
04 JIAHZ 2SS E= 29,178 20,068 9,110
OstasXizel JI2HH 22 U= 29,178
— @l H] 46,7893 230 x2H 21,523
-2 g 46,7893 x50 x2H 4,679
-aUHSREs 21,523,000& *4. 5% 969
-NE8E= 21,523,000 *1.3% 280




A AL
M THMEIE0 22 T8It

ol ANHUEE x4 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
—MHEEE 21,523,000 *0.7% 151
-JdZEE= 21,523,000 2. 54% 547
- RLEEE 21,523,000 *4.78% 1,029
201 Yer2g| 7,960 5, 160 2,800
01 Ab=22telH 4,000 2,000 2,000
Ot (28 &, =82 At ) s X2l (EA
g8 S) 4,000,000 * 14| 4,000
02 E&2gH| 3,960 3,160 800
OXSXAH(BER 1E) 30,000 = 1CH 30
OXsxEHZ (=X 1€) 630,000& = 1CH 630
OXERFUH, ZHl= X4 2,500,000& = 1CH 2,500
Oll=JIs=0 800
401 AlEHI LS HHI 65,000 75,000 210,000
01 Al£Hl 65,000 75,000 210,000
Oz 7,408 & B3 A
100, 000& =400 m’ 40,000
Oo=2dd, =82 &g JHldl 25,000
SHERAEFAIE 2eIMY 600,000 1,100,000 A500,000
Al 600,000
201 2Bt 600,000 600,000 0
Al 600,000
01 Ab=2t2lH 50,000 50,000 0
O2&8d RAS+AIE SN2l 50,000
Al 50,000
02 3323l 550,000 550,000 0
O2&8d RAS+AIE FX2clH] 550,000
Al 550,000
HY2HZH(ALD) 338,035 319,715 18,320
oz gy 224,134 218,007 6,127
el 2 224,134 218,007 6,127
101 1A 219,934 218,007 1,927
03 RIAHAZZNE 219,934 218,007 1,927
oJlzs 1,172, 7003 x 122 5% 70,362
O+ 9,600
-Sxgfsd 90,0003 x12& «5H 5,400
- gl E 70,0003 «12& 5L 4,200
OnEe 5,400
— B2 Xt 40,000 x 123 «5H 2,400
- &S 20,000 x12& 11 2,640
—AIHOl & 30,000 x12@ 1 360
Odti= 47,925




SA AL
Y Y 2PAL (AL)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o S Hl R =2
Ol &
- J|Z==g 1,742 ,694& x200%+5H 17,427
-3z 1,742 ,694& «100%*5H 8,714
— X & etad| 1,742 ,6943 x250%*5H 21,784
OS2l = 4| 35,057
—JUZ A 160,000 *12& x5H 9,600
—JHAIE =l 110,000& 122 «5H 6,600
- WsSEXH| 140,000 * 122 x5% 8,400
—-ZEFIH| 1,742 ,694& x120%*5H 10,457
Ox=zZf=E 35,099
-FY22=E 102,230+52 x5 H 26,580
RGPNE ==l Ea = 85, 1903 x20 x5H 8,519
OMEEHIBEEY 6,226
— st 51,4003 43| x2H 412
—NSstl 409,450 43| x3H 4,914
—CHsH 300,000& 3% 900
Ol 4| 100, 0002 *12& x5H 6,000
ORI S AtHI 50,000& 128 x5H 3,000
Qlu=stls 1,065
-Xg=(s=) 50,0003 x5H 250
-Zg=(st=) 30,0008 x5 150
-t (49) 50,000& x5H 250
—get e 15,000& 5% 75
-2 10,0002 «5H 50
-9 35,000& x5H 175
- &gt 23,0003 x5H 115
Ootetis X 20,0003 »28|x5H 200
203 HRF&H| 4,200 0 4,200
N EC T 4,200 0 4,200
ORAMZIHRFAI 350,000& x12& 4,200
=) 113,901 101,708 12,193
Jl22Z | 113,901 101,708 12,193
201 L2y 24,621 24,908 A287
01 AtE222|H] 24,621 24,908 287
(OL-VNE=PNEe 2,645
-AM 18,0002 1008 A 1,800
—-B4 28,0003 »20e A 560
—A3 19,0003 158 A 285
OE=RE EX P2L(A1) 18,0003 »40& A 720
OEHFY 9,288
— = At 55,0003 104 550
-T2l ED| 175,000 *8IH+5CH 7,000




SAH: A
X XH: SH
o T (=}

= Bl (&9 HM
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES (il & OH bﬂ/‘\_“’” Hlw &2

—FAXDI 88,000 34 264
-EZ22H7| 147,400 104 1,474
OZetdax Ad3+7¢ 59,000 =101 =2CH 1,180
FAN2EII=+=EH 10,000 x29H « 123 3,480
OA2Z2Z 2% =4Hl 7,000 «341x20H « 123 7,308

202 o4 89,280 76,800 12,480

01 2o 89,280 76,800 12,480

O2 Lo 240,000 «31H 128 89,280




